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INSTRUCTIONS A
1. Answer all questions. / 1. Rt |
2. Allquestlonscarryequalmarks 2, HIAF U T
3. In this booklet, the que;tlons from /3. # w0 1 Q HHF 100

serial no. 01 to serial no.100 are subjecz
specific. A

Each question has four alternatives
markedas (A), (B), (C), (D).
Choose only one’ alternative
answer of a questjon.

If more than on?’answer is
it will be treatgd as wrong answer,
Candidate h;ls to darken only one circle
indicating the correct answer on the

11.

If there is any diff¢rence between
English and Hindi version of questions,
then English version shall be correct.
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The accounting working rule "anticipate no
gains but provides for all possible losses"
relatesto:

(A) Conventionof Cdnsistency
(B) ConventionofDisclosure
(C)  Convention of Conservatism
(D) Convention of Materiality

The "Entity Concept" in accounting assumes
that:

(A) The business and businessman are

two separate legal entities.

(B) The business and businessman are
two separate entities.

(C)  All thebusiness and businessman are
one united entity.

(D) Noneoftheabove.

The "Accounting Standard - I" deals with:
(A) CashFlow Statement

(B) Depreciation Accounting

(C)  Valuation of Inventory

(D) Disclosure of Accounting Policies
The " Accounting Standard - 9", does not deal
with the following aspects of revenue
recognition :

(A) Saleofgoods

(B) Rendering of Services

(C) Government grants.

(D) Noneoftheabove

Which of following statement is not correct
regarding issue of debentures of a company:

(A) Issue of debentures with an option to
convert in to shares.

(B) Issue of debentures carrying voting
rights
(C) Issueofsecured debentures

D) Creation of debenture redemption
reserve for such issue.
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"Sweat Equity Shares" may be issued to :
(A)  Directors of the company

(B)  Employees ofthe company

(C) Both(A)or(B)above

(D)  None ofthe above

A company can not issue "Bonus Shares" out
of::

(A) Freereserves
(B) . Securities premium account.

(C) Capital reserves created by
revaluation of assets.

(D)  Capital redemption reserve account.

As per rule 13 of the Companies (Prospectus
and Allotment of securities) rules 2014, a
company may pay underwriting commission
on the issue of debentures subject to the
maximum of

(A) 2.5 % ofissue price or rate authorised
by thearticles, whichever is less.

(B) 5 % of issue price or rate authorised
by the articles, whicheveris less.

(C)  7.5% ofissue price or rate authorised
by the articles, whichever is less.

(D) 10 % ofissue price or rate authorised
by the articles, whichever is less.

As per Companies Act, 2013, total
managerial remuneration payable by a
public company to its directors including
managing director and manager in respect of
any financial year shall not exceed :

(A) 8% ofNetProfit
(B) 9% ofNetProfit

(C)  10%NetProfit
(D) 11 %ofNetProfit
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10.

11.

12.

13.

_Which of the following statement is not
correctregarding issue of bonus shares:

(A) Issue of bonus is authorised by
articles.

- (B) The bonus shares can be issued in

lieu of dividend.

(C)  Outstanding partly paid up shares are
to be made fully paid up shares.

(D) Noneoftheabove. |

Given the followings:

@) Net profit for the last three years are :

Rs. 1,10,000, Rs. 98,000 and

Rs. 1,22,000 respectively.

(ii) 'Average capital employed: Rs.
625,000

(iii) Normalrate of return: 12%

Assuming that the company will be
able to maintain its super profit,
calculate the value of goodwill on the
basis of 3 years of purchase of super

profit method:
(A) Rs.35000
(B) Rs.75000

(C)  Rs.1,10,000
(D) Rs.1,05,000

The concept of "Pre-emptive Right" is used
in:

(A) IssueofRight Shares
(B)  Issue of Bonus Shares
(C) Innitial Public offer
(D) Noneoftheabove

In which system of purchase the purchaser
gets immediate possession and ownership of
goods:

(A) HirePurchase System.

(B) Instalment Payment System

(C) Both(A)and(B)above.

(D) Noneoftheabove
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14.  Which accounting standard is applicable for
the valuation of inventory:
(A)  Accounting Standard - 2
(B)  Accounting Standard - 3
(C)  Accounting Standard - 6

(D) Accounting Standard - 7

15.  The basic objective of "Average clause" in a
Fire Insurance policy is:
(A) Toencourage fullinsurance
(B) Todiscourage under insurance
(C) Both(A)and(B)above
(D) Noneoftheabove

16.  The mean of 50 students was found to be 35.
Later on it was discovered that the marks of a
student was misread as 45 instead of 55. The
correct mean will be :
A) 351
(B) 352
© 353
(D) 354

17.  "Square root of mean square of deviation
taken from arithmetic mean" isknown as :
(A)  Quartile Deviation
(B) MeanDeviation
(C)  Standard Deviation
(D) Harmonic Mean

18.  Ifregression coefficient byx = -0.45 and bxy
=-(0.80, the correlation coefficient will be ;
(A) +04
B) -04
© +0.6
(D) -0.6
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19. If-the correlation coefficient is +0.6, the
cogfﬁcient ofnon - determination will be :
(A) 0.20
B) 0.64
© 036
D) 024

20.  Givethe following series

Series X | Series Y | Series Z | -
Mean 61 72 45
Standard Deviation| 11.32 9.54 5.86

Determine which series is more consistent?
(A) SeriesX
(B) SeriesY
(C) SeriesZ
(D)  Alltheaboveseries

21.  When the x variable are at equal interval and
the value to be interpolated is for one of these
variables, the method of interpolation used
willbe:
(A) Binomial Expansion Method
(B) Newton's Method of Advancing

Difference

(C) Lagrange'sMethod
(D)  Least Square Method

22. The sum of deviation of individual
observations from the value 30 is zero. What
is the arithmetic mean:
(A) 30
B) 40
© 50
D) 60

23. Karl Pearson's measure of skewness based

on the values Mean = 80 and

Median =82 equalsto:

(A) +2
B) -2
(C) +6
D) -6
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24,

25.

26.

27.

28.

Given the followings regarding rank
correlation : Sum of square of difference in
Ranks = 33 Rank correlation cofficient =
+0.80. Find the number of items.

(A) 8
@) 9
© 10
®) 11

If the arithmetic mean and geometric mean
of two values are 10 and 8 respectively, find

the values:

(A) 12,6
B) 10,8
© 15,7
(D) 16,4

"Lorenz Curve" is a measure of :
(A)  Central Tendency

(B)  Dispersion

(C)  Correlation

(D) Regression

Which graph of frequency distribution is
used to findout the value of mode :

(A) Line Frequency Diagram
(B)  Cumulative Frequency Curve
(C) Histogram

(D) Noneoftheabove

Which method of Index number is based on
geometric mean:

(A) Laspeyre's Method
(B)  Paasche's Method
(C)  Fisher's Method
(D) Noneoftheabove
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29.

30.

31.

32.

33.

In index numbers which test holds that the
product of price index and corresponding
quantity index should equal to the
corresponding value index:

(A) TimeReversal Test

(B)  Factor Reversal Test

(C) CircularTest

(D) Noneofthe above

Deflating of Index Numbersisusedin :

(A) FindingReal Income

" (B) Joining two or more series of Index

(C) Shiftingofbase of Index

(D) Conversion of base of Index
Given the following regression equations :
Y=13x+1.1

X=05y+05

What are the values of X and Y

A X=13Y=11

B) X=5Y=5

© X=5Y=3

D) X=3Y=5

Residential status of an assessee is related to :
(A) Previousyear

(B)  Assessmentyear

(C)  Accounting year

(D) Noneoftheabove

Which section of Income Tax Act deals with
exempted incomes:

(A) Section80
(B) Section10
(C)  Section194
(D)  Section20
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34.  Pension is taxable under which head of 34.
income?
(A)  Othersources
(B) Capital Gains
(C)  BusinessorProfession
(D)  Salary

35.  Any person who does not have PAN and
enters in to a transaction where PAN is
mendatory, can make a declarationin :
(A) Form36
(B) Form42
(C©) FormS5l1
(D) Formé60

36. Any sum of money received without
consideration by an individual will be
charged to tax if the aggregate value of
money received during the year exceeds:
(A) Rs.50,000
(B) Rs.1,50,000
(C) Rs.75,000
(D) Rs.30,000

37.  For long term capital gain the period of
holding ofa listed equity share should be:
(A) Morethan 12 months
(B)  Lessthan 12 months
(C)  More than 6 months but less than 12

months

(D)  None oftheabove

38.  If the taxpayer incurs loss from agriculture
activity, then such loss can be adjusted
against :
(A) Income from Business or Profession
(B)  Income from other sources
(C)  Income from capital gains
(D) Can not be adjusted from any other

income.
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39.

40.

4].

42,

43.

Any amount received under life insurance

policy including bonusis : 39.

(A) TaxableIncome

(B) Partially Taxable Income
(C) Exempted Income

(D)  Partially Exempted Income

Dividend received from an Indian company

is taxable under the head: 40.

(A) Capital Gain

(B)  Other Sources

(C) Salaries

(D) BusinessandProfession

In case of a Government employee any
amount received for the encashment of
accumulated leave at the time of retirement
is:

(A) Exempted Income

(B) Partially Exempted Income

(C) TaxableIncome

(D) None ofthe above

For computation of Income from House

Property, the annual value of self occupied 45

property is taken as:

(A) NilAnnual Value

(B)  Full Annual Value

(C) Calculated Annual Value
(D) Noneofthe above

Presently Maximum deduction from total
income under Section 80 C of Income Tax
Actis:

(A) Rs.50,000
(B) Rs.1,50,000
(C)  Rs.2,50,000
(D)  Rs.5,00,000
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44,

45.

46.

47.

48.

A'Bill of Matenial'is : 44.

(A) A schedule of material needed for a
job

(B) An acknowledgment of receipt of
material

(C)  Material issue statement

(D)  Pricelist of the material.

"During the period of raising prices of

material, the production is charged at lower

price." This statement is true under which
method of material issue :

(A) Firstinfirst - out method

(B) Lastin first - out method

(C)  Simple average method

(D) Weighted average method
Given the followings:

Annual Demand : 48000 Units

Cost of ordering (per order) : Rs. 120
Carrying cost (perunit): Rs. 2

What is the Economic Order Quantity?
(A) 1400 Units

(B) 2400 Units

(C) 3400 Units

(D) 4400 Units

Re- orderlevel equalsto:

(A) Maximum Usage x Minimum lead 47

time

(B) Maximum Usage X Maximum lead
time

(C) Minimum Usage X Maximum lead
time

(D) Minimum Usage X Minimum lead
time

48.

The bonus paid under Halsey (50 %) plan
will be just equal to bonus paid under Rowan
plan when to ratio of time taken to standard
time equalsto:

(A)  30%
(B) 40%
© 50%
D) 60%
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49.

50.

51

52.

At what rate remuneration will be paid to a  49.

worker under Emerson bonus plan if the
worker has worked on 110% efficiency?

(A) 120% oftimerate

(B) 130% oftimerate

(C) 140%oftimerate

(D) 150% oftimerate

Given the following information :
Total Volume of
overhead(Rs.)  Production (units)
1,22,000 9,000

1,54,000 13,000

What is the amount of total fixed overhead?
(A) Rs.32,000

(B) Rs.40,000

(C) Rs.45,000

(D) Rs.50,000

The amount of overhead assigned to units
producedis knownas :

(A)  Overheadallocation

(B)  Overhead apportionment
(C)  Overhead absorption
(D) Noneoftheabove

Given the following information regarding a
contract

Contract price : Rs. 30, 00, 000
Certified Work : Rs. 5, 00, 000

The profit to be taken to profit and loss
account will be calculated as :

(A) 1/3 of Notional Profit in the ratio of
Cashreceived

(B) 1/2 of Notional Profit in the ratio of
Cashreceived v

(C) . 2/3 of Notional Profit in the ratio of

- Cashreceived

(D) Noprofitis to be transferred to profit

and loss account.
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50.

51.

(©

TIEA A9 AT % TG TR HiHE
fra X § nftartis o s Ak saet
F R HFT TR 110 % ?

(A) TEHERFI120%

(B) THEREHI130%

(© THERF140%

(D) FHEATIHI150%

fregE aa e

Fa IR

IR (3.) TR (HEAN)

1,22,000 9,000

1,54,000 13,000

fer STl Rl Ra Ara RIS ?

(A) 32,000%.

(B) 40,000%.

45,000%F.

(D) 50,000%.

Sufterdt %t ufe #t fififa s § e
HEATAE :

(A)  Sufieadiw faato

(B) Suft=aai 1 TS

(C) ufeadi = srasiem

(D) SRFHYHRETE

L R R RS R R G
IR : F. 30, 00,000

Yo % < . 5,00, 000

o B T A o T et ik ) o e
(A) S @Y T 1/3 IS Wiftd & 31U
.ﬁ'
(B)  fSI AT T 1/2 TS Wit s AU
|
(©) I & T 2/3 T Wiftd & I
#
(D) o & ' R A T A S
e |
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53.  In calculation of operating unit of transport
costing which method is based on "Average
weight"?

(A)  Absolute Tonne Kilometer
(B) Commercial Tonne Kilometer
(C)  Available Tonne Kilometer
(D) None ofthe above

54. - A bus runs 90,000 kilometer in a year. One
liter of diesel is required for 8 kilometers run.
Ifthe cost of diesel is Rs. 70 per liter, find the
total cost of fuel :

(A) Rs.6,30,000
(B) Rs.7,50,000
(C) Rs.7,87,000
(D) Rs.8,00,000

55.  In process costing, cost per unit inflated due
to the presence of :

(A) Abnormal Loss
(B) NormalLoss

(C)  Abnormal Gain
(D)  Noneoftheabove

56.  If the actual loss units are less than the
normal loss units, .............. arise in the
process :

(A)  Abnormal Effective
(B)  Abnormal Loss

(C) Normal Gain

(D) Noneoftheabove

57. In an interprocess transfer, output of a
process is transferred to another process on
20% profit on transfer price. This means :

(A) 25%oncost

(B) 30%oncost

(C) 36%oncost

(D) 40%oncost
07-ABST
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fETe @R § IREEH §h1E S 0T
fera et ot fafiy “sirea wr” wsmafa® ?
A) s et

B) afufsas A faremie

(C) U=y fRamet

(D) SWEFHIFETE

TH 99 98 T 90,000 foraiex =it €1 8
fereiviet =t e & fag T T Siete &t

AT Bl ¥ | IS SISt =t &I 70 &
Wi w1 & $U i et AT A e

(A) ¥.6,30,000
(B) ¥.7,50,000
(C) &.787,000
(D) %.800,000

Jishan AT SEih S Ufd $h1E AT H 39
wuferfadgfgdnte:

A) SEmEEEH

(B) WM

(C) EMRIHEA

©) IREFEARE

& 9frar # afs arafasw @i &1 shEal
T B SRR A FT B W eovnenenes
ER R

(A) STHMM =4
(B) HERIEH

(C) I

(D) SREHFARE T

Teh 371 ; WishaT SEiaRor H Teh Wihan 4 gadt
Hfsean § SEAaur God I 20 % TN HGHL
S AT | SHRT A &

(A) TFEAHI25%

(B) TTAHI30%

(C) TTrTAH36%

(D) <TTARI40%
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58.

59.

60.

61.

62.

If P/V ratio = 40 %, Margin of Safety ratio=  58.

50% than what is the amount of profit if sales
isRs. 1, 00,0007

(A)  Rs.40,000
(B)  Rs.50,000
(C)  Rs. 10,000
(D)  Rs.20,000

Ascertain Sales, when :
Fixed Cost=Rs. 20,000
Profit=Rs. 10,000
BEPsales=Rs. 40, 000

(A)  Rs.30,000
(B)  Rs.40,000
(C)  Rs.50,000
(D)  Rs.60,000

The difference between total standard cost of  60.

material for actual output and total actual
costis:

(A) Material Price Variance

(B)  Material Usage Variance

(C)  Material Cost Variance

(D)  Material Mix Variance
"Labour Idle Time Variance" is always :
(A) Favourable

(B) Adverse

(C)  BothFavourable or Adverse
(D) Noneofthe above

Audit mainly deals with vouching,
verification and valuation of

(A) Corporate Action
(B)  Accounting Books
(C) Management Books
(D) Noneoftheabove
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61.

Ifg A AE FAA = 40%, G W
I = 50% & @1 Y AR R AN AR
fat®. 1,00,000 1R ?

(A) ¥.40,000
(B) ¥.50,000

(C) ¥.10,000

(D) ¥.20,000

fami s afT @ ifoe, el

feer @™ < €. 20,000

Y :¥. 10,000

T fa=g famt : . 40,000

(A) ¥.30,000

(B) ¥.40,000

(C) ¥.50,000

(D) ¥.60,000

et ! ArEdfeeh SeUE &g A THIY ST
AT R AT T T AR ¢

A) | e faerm

(B) It HEE for=

(C) wmIterTa fa=o

(D) s fasror fa=eo

“ oy spTie gud faeor sRen e
(A) SgRE

®) wiRd

©) STHRTANHRAIA

(O) SHReEHARETE

Y qq: fruh THIVF, WA qer
oo § qraf-aa e :

(A) HRURZ ALY
(B) TEHAEMA

(C) vy o d
(D) SREFARRE TG
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63.  As per the opinion of Auditor, the financial 63.

statements depicts:

(A)  Acceptable view
(B) Reasonableview
(C) TrueandFair View
(D) Noneoftheabove

64.
64.  Which type of audit is conducted by the staff
ofthe organisation?
(A)  Secretarial Audit
(B) TaxAudit
(C) CostAudit
(D) Internal Audit
65.

65.  Which section of the Companies Act, 2013
deals with the appointment of Auditors:

(A)  Section128
(B)  Section135
(C)  Section138
(D)  Section139

66.  Aperson shall be eligible for appointmentas  66.

an Auditor of a company onlyifhe s :

(A) An officer or employee of the
company

(B)  Abody corporate, other than limited
liability partnership.

(C)  Achartered accountant
(D)  Alloftheabove

67.

67.  As per the provisions of the Companies Act,

2013, the remuneration of first auditor of a

company shall be fixed by :

(A) Boardofdirectors

(B)  Annual General Meeting

(C)  Extraordinary General Meeting

(D) Central Government
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(D) HR139

T Al Fhdl T AT o STh el & &I T
Frget S Aram TEM R S 98 :
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A) fRusaEagm
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68.

69.

70.

71.

72.

Unqualified report of the auditor is also

known as:

(A)
(B) CleanReport
(C) Disclaim Report
)

The auditor of a Government Company shall
be appointed by :

(A)
(B)  President ofIndia

(C)  Comptroller and Auditor General of
India

Adverse Report

None ofthe above

Finance Minister

Central Government

D)

If the Current Ratio is 1.8 : 1 and working
capital is Rs. 1, 20, 000, what is the value of
current assets ?

(A)  Rs.1,50,000
(B) Rs.1,20,000
(C)  Rs.3,70,000
(D) Rs.2,70,000

"The percentage change in operating income
that result from percentage change in sales"
is a measure of :

(A)
(B)  Degree of financial leverage
(C)  Degreeofcombined leverage
(D) BreakEvenPoint

Given the following :

Degree of operating leverage

Earning before interest and tax :
Rs. 12,00,000
Fixed Costs : Rs. 18, 00, 000
What is operating leverage ?
(A) 25
®) 15
© 12
O 11
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3ok & AT T Hgena :-

(A) wfarEw R

®) w=BRE

(C) ordtsr e

(D) SREAHYRETE
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W ® ¢

a) famusigm

(B) HRd% UURIEN
(C) vRa % frww au1 HeerEr wiers

Y
D) HITTHRER
s <Te] ST 1.8 : 1 ¥ FRA YSH &

1, 20, 000 ¥ T <] wwfvdl 1 oA AN
qm?
A)
(B) ¥ 1,20,000
(C) %.3,70,000
(D) ®.2,70,000

“gfareq ot § 29 9 wiov seaE S
fa! & wfaea sCoe & ForEEY B ©
HOAHS : :

(A) 9fR=TeF 3TieTs Sl 1E
(B) Tarita e SitAmET
(C) g STIoTh I A

®.1,50,000

(D) wHiE=Rfag
fraamE:
S AT HL Y 37 : & 12, 00,000
fereard :%18,00,000
i Itiierh | e
(A 25
B) 15
© 12
o 11
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+»3-73.  Modigliani - Miller approach o capital 73.

structure is similarto :
(A)  Traditional Approach
(B) NetIncomeApproach
(C)  Netoperating Income Approach
(D) Noneoftheabove
74.  Quick Ratio assumes that the following

current assets will not be converted in to cash 7

atthe time of paying current liabilities:

(A) Debtors |

(B) BillsReceivable

(C)  Stockintrade

(D)  Short-terminvestments
75.  Accounting Standard for cash flow statement

is: 75.

(A) AS-2

(B) AS-3

() AS-7

@) As-9 | 7.
76.  As per SEBI Guidelines, the cash flow

statement is to be preparedin :

(A) Direct Method

(B) IndirectMethod

(C) Both(A)or(B)Methods above

(D)  Neither (A)nor (B) Methods above -

77.  "Management Accounting is concerned with
the accounting information which is useful
tomanagement." This definition is given by :

(A)  AmericanAccounting Association
(B) J.Batty

(C)  RobertAnthony

(D) Noneofthe above
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© =uREwEY
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(A) AS-2

(B) AS-3

(C) AS-7

(D) AS-9

{aft & T el & o1& 9 Aers yare faaww
AT R

A) vaufatua

B) IUufayy

(©) W(A)mm)ﬁﬁfbﬁﬁ
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(A) ERFATEHFIIREL G

(B) So¥gW
(©) TRTHEHEN
(D) SWHAAPE S
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78. .

79.

80.

81.

82.

Ideal CurrentRatiois:
Aa) 1:1

(B) 2:1

© 15:1

(D) Noneoftheabove
P/Eisknownas:

(A) Profitto Earning Ratio
(B) Profitto Equity Ratio
(C)  PricetoEarningRatio
(D) Priceto Equity Ratio

"Auditor is a watchdog, not a bloodhound"

This quotation was given in the case of
(A) Kingston Cotton Mill

(B) Londonand General Bank

(C) G.M.Dandekar

(D) Noneoftheabove ‘

What is the main problem arise in preparing

departmental accounts?

(A) Determination of Departmental

Policy

(B)  Apportionment of Indirect Expenses

(C) Identification of Direct Expenses

(D) Noneoftheabove

What is the basis of apportionment of
depreciation among various departments?

(A) Number of workers in each

department.
(B) Wagesofeach department.

(C)  Purchasesbasis of each department

(D)  Valueofassets in each department
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A 1:1

B 2:1

© 1.5:1

D) SWFAIRETE
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(A)  TE 3 AU

(B) WY Y AU

(©) AT AT AT

(D) eI 39 Y

“ 37 &1 T TGl HTH 91 A & T §
firpit 1 & GAE T 98 YA fRa gaed
Hiearmanar:

A) fEEAwlcfa

(B) TRATESIASH

(C) SfloWHo T

D) SREHTAPEE

faumir @ R i T g T8 9HE
FSTAABANE ¢

(A)  fawrig=ifa i

(B) IUAY Gl I FIHHA

(C) va¥Ed & IgaH

(D) SREHAIREE

fafir fearvmil # HeaRre & STMISH T MUR
FR?

A) v T gfirri s aen

(B) v T HeRd

(C) T AR 1T MUR

(D) v fasmr & weafedi 1 e
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83.  Branch, which does not maintain its own set  83.
of books is known as:
(A) Independent Branch
(B) Local Branch
(C)  Dependent Branch
(D)v None of the above
84.  Under "Stock and Debtors Method of Branch  84-
Account", the "Branch Adjustment
Account" is opened when goods are sent to
branch at:
(A) MarketPrice
(B) InvoicePrice
(C)  CostPrice
(D) Noneoftheabove
85. "Branch Adjustment Account" is in the 85-
nature of :
(A) RealAccounts
(B)  Personal Accounts
(C) Nominal Accounts
(D) None of the above
86.  When the market price of debenture includes  86-
interest till the date of transaction, the price
quotation is called:
(A) Ex-interestprice
(B) Cum-interestprice
(C) Both(A)or(B)above
(D) Neither (A)or(B)above
87.  The Accounting Standard which deals with g7.
the "Accounting for Investment" is :
(A) AS-13
(B) AS-5
C©) AS-18
(D) AS-15
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88.

89.

90.

91.

92.

07-ABST

The amount to rent which the lessee is

required to pay to lessor whether the lessee

has derived any benefitornot, isknown as :

(A) SurfaceRent |

(B) Minimum Rent

(C) Maximum Rent

(D) Noneofthe above

In the books of Lessee,"Unreceipted Short -

working" is transferred to :

(A) Royalty Account

(B) Landlord'sAccount

(C) Profitand Loss Account

(D) Noneofthe above

As per the provisions of Section 2 (87) of the

Companies Act, 2013, a company in which

the other company control the composition

of the board of directors or excercise or

control more than one - half of the total share

capital, is known as:

(A) Holding Company

(B)  Subsidiary Company

(C©) Dormant Company

(D) Noneofthe above

The Accounting Standard related with the

"Consolidate Financial Statement" is:

(A) AS-18

(B) AS-19

(C) AS-20

D) AS-21

As per Accounting Standard - 14, the

"Pooling of interest method" is used in:

(A) Amalgamation in the nature of

: purchase

(B) Amalgamation in the nature of
~ merger

(C) Both(A)and(B)above

(D) Noneoftheabove
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B) HEEEH HEA

© fifsrasat
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(A) AS-18

(B) AS-19

(C) AS-20

D) AS-21
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93. The amount at which an asset could be 93.

exchanged between a knowledgeable,
willing buyer and a knowledgeable, willing
seller in an arm's length transaction is known

as:

(A) Notional Value
(B) Relevant Value
(C) FairValue

(D) Noneoftheabove

94.
94. In which type of reconstruction, the
company always remain in existance?
(A) Internal Reconstruction
(B) External Reconstruction
(C)  Reconstruction involve liquidation
(D) Noneoftheabove
95.  As per section 270 of the Companies Act,
2013, the types of winding up of company 95
are:
A 4
@) 3
€ 2
O 1
96.

96. At the time of winding up of company the
first payable amount out of the assets of the
companyis:

(A)  Secured Creditors
(B) Prefential Creditors
(C) Liquidation Expenses
(D) Noneoftheabove

97.  The " Double Accounting System" is useful 97

for:
(A) Manufacturing organisations
(B) Mining organisations
(C)  Processing organisations
(D)  Public Utility Organisations
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98.

99.

100.

The balance of debenture redemptioft fiind
account after the redemption of debentures is

_ transferred to:

(A)  GeneralReserve

(B) Profit & Loss Account
(C)  Capital Reserve

(D) Noneoftheabove

Arailway station built in 1960 at a cost of Rs.
15, 00, 000 was replaced in 1988 at a cost of
Rs. 80,00, 000. Itis estimated that the prices
of material have risen to 700% and labour
rates have trebled. If the proportion of cost of
material and labour in old station has 4 :6,
find the amount to be written off :

(A) Rs.11,00,000

(B) Rs.26,00,000

(C) Rs.63,00,000

(D) Rs.69,00,000

"Accounting is the financial language of

- 98.

99.

100.

business which is based on accounting .

principles, conventions and concepts." The
statement is :

(A) True

(B) False

(C)  Uncertain

(D) Alloftheabove
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